XWG-281TN

INSTRUCTION MANUAL

SKU
10FTX13FT GAZEBO

BERK

=
<R
o%

sV % Y%
SRR
Pedetete!
Padetetodet
HKKL
LK
S
%S

S

o

e
O

—
>
%
2
3
%
%
000
X

::
::
<R

>
O

ot

000

R RRAIRRIRRK,
R RN
BRI R
s
3‘0‘0&“0‘00‘0AXK&%%%%%&&%‘ ﬁv

% &
onouoNoowo%%%%%%%%%»o%%&

SKKILKS
RIS

=
R
R
XS
SRS
2K,
28
K&
3
oo
252
255
o,
X%
dodels
255
S
%
S
ot
5%
oo
&
oS
o
5
3
3K
S
S

Z
5%
5
<3

oS
000
o
ot
X5

oS
5
b3
5%
oS
85
35
KRS
S
S
S
S
5
’
3

o2
JSIRIKLKE,
KLLERS
SRRIIEERA S
R R RS

KKK

905¢%%

2%
el

305
0%}
5%

&S
&
%
%%
e
SRR
5
R

9.
9.

K XXX
3

o
%

o0

o

%S

55

%5

X
o
S
S
Lo,
L
et

X

0%’
o

s

o
5
o
oS
S
5%
oS
%
KRS
o3
QKK
3
5%
X
2
LKL

>
&
020

%
%

XS
K
XS
5%
%
2

‘:
%
L
2RI
3%
bes
Pogs
&L

X
9.
X
XXX
L
3%
KX
< 0‘0
0‘0
0‘0
‘0
‘0
X
%5

.::
::
<P

X
"

IKKEL

RSN

9a9.9,

K

3K

0‘0

3%
SRRRRRK

3%
[

%%

—
R
KK

5%
%

%%
%
Q

::
Pos
’:
.:
o0t

X2
::
::

<

L
9%
P

L2RRRRK

20 Set0tetototote ot et et tetotetotetotetete!
T R e R IR,
SRR
WNNNNNN“MNNONNNMMNN%%00000 K%
RRRRRIIILRIIIIRKKS

0707070 %0 %% % % %%
o% <

%5
%
%
%S
%S
%
3
S
oo
%S
5
%
X

Joseses

O ILRLLLLLRLRILLRRRRKKS
S ORLILLLLLLRRLRCRRRRKRS
R IREIIIRRSIRRRSS
CXRRKK QRRIERRRRAIALA

o2
5

%%

o2
&

2

%
K

RERIHIICRIKK
RIIEIRRIELLRIRKS

O

3
o
Pode!
b2

35
3%
35
oy
%
<5
35
3RS
29585
35
35
3K
S
3
35
5
%
%

%
=
%

000

D%
5 %
X 2555
KKK LK

3%
2% AKRKKK,

3K

O,

25
2GR0
deetotedeteds
KKK

%
5
%
5%
&
&
2938
5%
35
o0
X%
3K
&%
000
o0
00

<3

X3

%
%
3%

0%
£

b0

R e
9000200000260 0 00200 0203 % v
CRERREELLRELREKRR

%
5

%
o0
%

b
9085
3%
&S
3K

ot
SRS
SRR

XS
SRS

&
1S
S

P %%

e

<

s e

24

SRR
.’

o
X
o
o
3
o
%
00
bo 2%
<R
o

%
X
22

D

<2
et

2%

bode

b

oS

%

29085

8959

%

X8

255

SRR

RXR

XK

3RXX
SRR
LS
KKK
Do dototesotede!
3K
Podetedetelolel
ZRRLRKLS
LIRS
SRRRKRS

SRR
&
<5

3%
X8
3L
XK
deteleletedetele!
DeSodetetete% %!
QERRKEKS
RIS
0,::
s
Do

be %

<l
<P
<}

oo

e
SERIEIRRRKS

03RS

QK

235

3R

5
KRR

be%%

%%

RIS

bt
5
XS

0
%
o
35
3
%
e

O
o

oS
oo
X8
RS

%
S
X
X
S

::
::
vat

%
0:: %
3
900
‘&

3
ot
000

R
o0
%%%

posesesete’
2RI
SRR
$RRRIXKS

SRKRRRRA
SRRARIEXY

55

3%

{0

<

%




Note: The gazebo needs to be installed in cooperation with four people.
The following tools are not included and needed for assembly:

Pistol Dnill Tape Measure

2 m Adjustable Ladder 4 people

Warning
1. Four person assembly is required for this gazebo.

2_Please take appropriate actions as heavy rain, wind and snow can damage the
gazebo. If necessary please disassemble and store for later use.

3. In snowy conditions, please do not allow the thickness of the snow to be more
than 5 inches on the roof, this should be cleared as soon as possible for your safety.
When the wind speed reaches 61.2km/h, please take measures to avoid the wind.



PARTS LIST (BOX A)

A B1 B2 C1

4 PCS 2 PCS 2 PCS 4 PCS
D1 D2 D3 E
o= X | ¢ — |~ .

4 PCS 4 PCS 4 PCS 8 PCS
EA1 F5 F6 F7

2 PCS 4 PCS 4 PCS 2 PCS

/1

4 PCS

PARTS LIST (BOX B)

B3 B4 C2 G1

2 PCS

2 PCS

6 PCS

4 PCS




PARTS LIST (BOXB)

= " J1 J2
E§ S e St
4 PCS 4 PCS 1PCS 1PCS
K1 K2 - -
D o/ I\
4 PCS 6 PCS 4 PCS 4APCS
M2 L T2 U
;@ @
6 PCS 4 PCS 4 PCS 112 PCS
Y 1 5 .
M6x16 M6x10 e
20 PCS 103 PCS 92 PCS 4APCS
4 5 . .
B  —
B ©
ST4.8X13 o6
24 PCS 2 PCS 1PCS 12 PCS
N 3:
2 PCS 1PCS




PARTS LIST (BOXC)
Q2

Q Q1 R

2 PCS 4 PCS 4 PCS 2 PCS
R1 R2

4 PCS 4 PCS




x4

STEP 01

l

x4

M6x16

@x12




STEP 02

X2

M6x10

@x40




(> | STEP 03

M6x10

@x16

—




M6x10

<:> X 16

STEP 04

Bl
B2







STEP 06

D3

D3

——

x4

(-
M6x16
@ x 8

D3




STEP 07 G2 S
% N 62

@x4 @ @ @ | @

E

@x4 @

oo

ST4.8X13

@x24

820r @)

G1




STEP 08

B2 T B4
" 4l
N/ I R v/
Ux8 Ux8 L Ux8 Ux8

1

Ux6 Ux6 L Ux6 Ux6




STEP 09




STEP 10




M6x16

<:> x 18

STEP 11




STEP 12

@x1

M6x16

@x1

—

NN

TN

7 "N

7 N
/ N
/ D
i 3

N
N

N
R

>

N

)

)

" ;\
| — -

/

A

/

.

SR | W —

)/ 2
7\




\ STEP 13

@XS

@XZ

=N
@x4

@x6

M6x16

@x10

® e ©




STEP 14

©




STEP 15




7

€

}\\\\
\\\\\\&/ﬁ)

/\\Z

—

\Z
\%

““‘




STEP 17

——— /\
NiNe=—"

==
=—

%\%

8 \ Qy \
\\\ -\
J = ——

I /\




STEP 18
-y

Ty 4

—
= —
= —
= —
— —,
= ——
= —_—l
— sm— ) w—
— —— ==
—A T =\=
—= — A\
p— | — S
g | — = N
= —
— w— =\— N
—\— == N
— =\= .
— } —t N
— A\ == N
== —\—
—— —

——

T

T

orOro

T




OI'I’

81orB2)

=S

I

R

2

@x12

—_—
S\




	0
	1
	图纸和视图
	模型


	2
	图纸和视图
	模型


	3
	图纸和视图
	模型


	4
	图纸和视图
	模型


	5
	图纸和视图
	模型


	6
	图纸和视图
	模型


	7
	图纸和视图
	模型


	8
	图纸和视图
	模型


	9
	图纸和视图
	模型


	10
	图纸和视图
	模型


	11
	图纸和视图
	模型


	12
	图纸和视图
	模型


	13
	图纸和视图
	模型


	14
	图纸和视图
	模型


	15
	图纸和视图
	模型


	16
	图纸和视图
	模型


	17
	图纸和视图
	模型


	18
	图纸和视图
	模型


	19
	图纸和视图
	模型


	20
	图纸和视图
	模型


	21
	图纸和视图
	模型


	22
	图纸和视图
	模型



